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Unit 3/ Day 3

More Solving Systems of
Equations Algebraically &
Graphically

Objective:

Students will solve systems of equations
representing lines, parabolas and circles both
algebraically and graphically.

Unit 3/ Day 3

EX #1: Consider the graph below as you answer the following questions.

a. Find the equation of the \ L
parabola and label it /(x) .

= alx+?) -2 :
za(-1+>) -+ \ "
2= Y >
et 0 L&+d-2 \ 7

b. Find the equation of the ‘
line and label it g(x). ' REZVSEERY.D 2 s

%LXB = X+S

c. Use the graph to solve the system.

(- 5,0) (I,L)
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d. Solve the same system algebraically.
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-1 >~
0=30x3y=2
e. Use your graph to solve |

=0.
f(X)zO )(—ir\t

(-5,0) X=—5 \ il
(-1,0) x==1\
f. Use your graph to solve \
g(x):O. - J S/ 4 B3 4

g. How could you change the equation of the parabola so that
the parabola and the line do not intersect?
(Think of at least two ways.)

move tF up (increass k—)
make a regotive
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EX#2: Solve the following system algebraically.

—6
= -2
{y x-3

y==3x +10

‘(ﬂ _2:—3)(1"0
X=-3

== (x-3)-3x+12)
b= -3X F1ax+ WX-3b
3x-alx+30=0
=D

= 3
K=Fx+10 = O
0
_ -2
(x-5Nx-2)=0
X=§5 X=4
- = =3(@*\0
e ¥
(5,“5\ (aﬁ\

EX #2: Solve the following system graphically.

-6
’= x-3 2
y=-3x+10
x=3
159t

10
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EX #3: Solve the following system algebraically.
fre sl - 37 af3ed -S

¥ s B 2ol
x-i(afrF —s) =14
x-afx+yq +5 = ¢
ATy XXt

= 2

(-avi) =(x=1)
4(1\+LI)=XZ+RX+I

o= xR+

K-ax-15=0

iy

(x-S(x+D)=©

X=9 )("—"3
S-ysq ~3gnd
Y= 4t
y: 3 o8

EX #3: Solve the following system graphically.

y=2Jx+4 -5 _ I+
x—y=4jl-l\~ —‘}"X"
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EX #4: Solve the following system algebraically.

{y=—6(3)x +7
2x +y =1
Y= ~axX+|

coxt| =T

X
~Ax-6= —6(3) o
—_— - IS

1 )—W )\(Q 6)(\).
x| = 3® W

EX #4: Solve the following system graphically. -2,
£
y=-6(3) +7
2x + y =1
(4: =X+
\ A
v
S — Ie -
\
|
\
[
|
N \

L(- 2.472, 6.344)
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